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// HEFFSEBLIE D

// TEANHET
void InsertSort(int* a, int n);

// IR
void Shellsort(int* a, int n);
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void SelectSort(int* a, int n);

// T
void Adjustbwon(int* a, int n, int root);
void HeapSort(int* a, int n);

// BiHER
void BubbleSort(int* a, int n)

// PEFT
void QuickSort(int* a, int left, int right);

// IR

void MergeSort(int* a, int n)

/7 DEFET 1t RE R L

void TestoP()

{
srand(time(0));
const int N = 100000;
int* al = (int*)malloc(sizeof(int)*N);
int* a2 = (int*)malloc(sizeof(int)*N);
int* a3 = (int*)malloc(sizeof(int)*N);
int* a4 = (int*)malloc(sizeof(int)*N);
int* a5 = (int*)malloc(sizeof(int)*N);
int* a6 = (int*)malloc(sizeof(int)*N);

for (int i = 0; i < N; ++i)

{
allil = randQO;
a2[i] = al[il;
a3[i] = al[i];
adli] = al[i];
a5[i] = al[i];
a6li] = al[i];

h

int beginl = clock();
InsertSort(al, N);
int endl = clock();

int begin2 = clock();
Shellsort(a2, N);
int end2 = clock();

int begin3 = clock();
SelectSort(a3, N);
int end3 = clock();

int begin4 = clock();
HeapSort(a4, N);
int end4 = clock();

int begin5 = clock();
Quicksort(a5, 0, N-1);
int end5 = clock();



int beginé = clock();
MergeSort(a6, N);
int end6 = clock();

printf("InsertSort:%d\n", endl - beginl);
printf("shellsort:%d\n", end2 - begin2);
printf("selectSort:%d\n", end3 - begin3);
printf("HeapSort:%d\n", end4 - begin4);

printf("qQuickSort:%d\n", end5 - begin5);
printf("MergeSort:%d\n", end6 - begin6);

free(al);
free(a2);
free(a3);
free(a4);
free(a5);
free(ab) ;
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